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Seat Total No. of Pages : 15
No.
Pg. Re-Entrance Examination 2025-2026
ML.A. Travel & Tourism Entrance
Subject Code : 97870
Day and Date : Thursday, 10-07-2025 Total Marks : 100
Time : 01.00 pm to 02.30 pm
Instructions:
1) All questions are compulsory.
2) Each question carries 2 mark.
3) Answers should be marked in the given OMR answer sheet by darkening the
appropriate option.
4) Follow the instructions given on OMR sheet.
5) Rough work shall be done on the sheet provided at the end of question paper.
1. Lookatthisseries: 53,53, 40,40, 27, 27...... What number should come next?
a.12 b. 14
c. 27 d.53
&l HIfeTeT 8T 43, 43, 80, 8O, 20, 20...... & DIV 3TThel IScT?
3R d.8%
. S.43
2. Look at this series: 72, 76, 73, 77, 74, .......... ,75, What number should fill the
blank?
a.70 b.71
c.75 d.78
&l HIfcTahl UET: R, BE, 3, B, 1Y, ................ (94 GE& PIUTAT FHAT 37Tci! ifgi?
3. 6o d. 6%
b, 04 5. ¢
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QAR, RAS, SAT, TAU ......ccouuune..
a. UAV b. UAT
c. TAS d. TAT
Which word does NOT belong with the others?
a. guitar b. flute
c. violin d. cello
"A book could not exist without-...........
a. fiction b. pages
c. pictures d. learning

Which of the following UNESCO world heritage site built in Uttar Pradesh by
Emporer Akbar ?

a) Taj Mahal b) Fatehpur Sikri

c) Humpi d) Red fort

THTE PR IR Ua2ITd Fieelel WietieTieh! PBIUTd AT STPTfcids TRIAT IS 3Ta?
37) dTsTHgTc ) BdeRR Rh!

&) gl ) oTe fobeetl

Secretly is to openly as silently is to .....cccuueneenee

a. scarcely. b. impolitely.

c. noisily. d. quietly.

Cup is to coffee as bowl is to
a. dish. b. soup.

C. spoon. d. food..



10.

11.
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Which is appropriate shape?

& |

. . y

Fact 1: Jessica has four children.

Fact 2: Two of the children have blue eyes and two of the children have brown
eyes.

Fact 3: Half of the children are girls.

If the first three statements are facts,

which of the following statements must also be a fact?
i. Atleast one girl has blue eyes.

ii. Two of the children are boys.

iii. The boys have brown eyes.

a. Il only

b. I and III only

c. Il and IIT only

d. None of the statements is a known fact.

Four friends in the sixth grade were sharing a pizza. They decided that the
oldest friend would get the extra piece. Santosh is two months older than
Varun, who is three months younger than Ram. Aman is one month older
than Varun. Who should get the extra piece of pizza?

a) Santosh b) Varun

c) Ram d) Aman
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TETAId fABUIR IR i fUss1 Q3R &Hvd Bid. i1 d¥del ol Jdid AT fase 1A

IHUTUET UHHAGIT AI6T 37T, 3fdRTh fUSsT HIuTe amar?

12.

13.

14.

15.

16.

a) Iy b) TBUT

c) MM d) 31H4
My friend ......ccouurnee. lives in Australia is a nurse.
a) who b) which
c) whose d) whom
John has to get ................ early in the morning.
a) on b) up

c) down d) along

Choose the correct spelling.

a) Ilustration b) Illustrason
c) Illustration d) Ilustrason
Choose the correct spelling.

a) Statement b) Stetment
c) Statement d) Estetment

There are 7 dozen mangoes keptin a box if there are 14 such boxes how many
mangoes are there in all boxes together?

a) 1176 b) 98
) 1216 d) 168

Uehl UEId (o S 3Mid Sdctel 3T SR 32T 8% Uel 3Rdlel ok Id Jeained g
fobeit 3tid 3RAciteT ?

a) 220§ b) Q¢

C) %6 d) 2&¢

4:15



17.

18.

19.
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A person crosses a 600 m long street in 5 minutes. What is his speed in km
per hour?

a) 3.6 b) 7.2
c) 8.4 d) 10
Tas oFeh! 4 fAfeid goo Hier didan W iicrisd. & a1 f ufd drard o 38 ?
a) 3.8 b) 0.2
C) .8 d) 2o

If a person walks at 14 km/hr instead of 10 km/hr, he would have walked 20
km more. The actual distance travelled by him is:

a) 50 km b) 56 km
c) 70 km d) 80 km
SR UHEIG! Fhi 9o fpHt/arauasit 98 faml/darT 9oTH ATeld 319d, a3 di Q0 oo} ST

T 3. AT U8l UR Balal 3c e

a) yo fopdt b) y& feH

c) o Bt d) ¢o fotft

For how many disciplines is Nobel Prize awarded?
a) 08 b) 04

c) 06 d) 03
UpUT fabell QMRATHER Hidel UTgst et ST ?

a) o¢ b) o

¢) o& d) o3

5:15
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20. Which City in India is known as the "Pink City"?

21.

22.

23.

a) Udaipur b) Jodhapur

c) Jaiselmer d) Jaipur

HRATAT PIUTA AT "eTTell AR U I3 ST1d ?

3) 36T d) TR

&) SRITR ) AR

Which country is called coffee bowl of the world?

a) Brazil b) Mexico

c) India d) Serbia

BIUTT G2ATeTT SPTTdTE hithl ST3>e Feeal ST ?

31) STt ) AR

P) URd g) |fsan

Which of the following state is know as spice garden of India?
a) Andhra Pradesh b) Kerala

c) Punjab d) Kashmir

GTetieTies] IuTd TS YRATA A Ao JPT BUH 3Ed 7d ?
31) 3ig wGeQl d) BB

CHREIG| 3) BIYHR

Where is Vikram Sarabhai Space Centre located?

a. Thirivanthpuram c) Chennai

b) Bengaluru d)Ahmedabad
P ARTHTS 3IRTSB g PIS 378 ?

31) faRdagea q) P1gS

&) T SERIGEIC



24. Asia's largest rail network is .....ccovneenee.

25.

26.

27.

a) China b) Korea

c) Pakistan d) India

3T HaTd HIS Yod AT .ovvrvevern 3Te

a) I b) SR

c) UTfepdr= d) YRd

"The ocean covers .............. percentage of Earth's surface.
a) 51% b) 61%

c) 71% d) 91%

AT GEUPIA ... Zoh WP HENAPRTA ATelell 37T
3) 51% d) 62%

&) 9% 5)32%

Which one of the following is not a Himalayan River?

a) The Ganges b) Cauvery

c) Sutle;j d) Beas
Wlefletieh! BIoTe 7t ferTerll= et rel?

ORI b) BTN

c) Igdeisl d) fearg

Ozone layer is present in

(a) Troposphere (b) Stratosphere
(c) Mesosphere (d) lonosphere
3T 2R PIVTIT HPTA 3R

(37) STAHI3R (§) KERBIR
() FRATHIBR (8) ITHIIR

ENT-51
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28.

29.

30.

31.

The Kedarnath temple is dedicated to

a) Lord Indra b) Lord Rama

c) The Sun God d) Lord Shiva
PERATY HIER ovvrcerene BIEISEISTEI

31) WIAH €5 d) WPEE M

&) IqAed g) WM A
White colour passport depicts

a) Ordinary passport b) Official passport
c) Diplomatic passport d) Alien's passport
37) 9T 9rEUIe ) 3fAHd IR
&) fewiHfes qrare g) Vet ardié
The first trophic level in a food chain

a) Green Plants b) Herbivores

c) Carnivores d) Bacteria

377 AT oblcileT dfeed! IRt BIoTdl

31) f&=alt gt q) SMBTERT

%) HIATENRT g) dafan

In which Indian state is Corbet National park located_'.
a) Madya Pradesh b) Uttarakhand

c) Kerala d) Tamilnadu
HIoc S I BIUTT URART AT 38 ?

37) HeA UG d) 3TRIES

b) PRD ) difia-Tg
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32. In which year Silent Valley was declared as National Park?

33.

34.

35.

a) 1988 b) 1982

c) 1984 d) 1981

DIV T8I AIAC @etlell I JeT FEULH HIftd BRUITd 3Tc ?
37) 23¢¢ d) %R

) 3¢ g) 2%¢8

length of Maharashtra Coastline is...............

a) 720 km b) 1600 km

c) 590 km d) 1076 km

HERTY fBARTSIRN &idl ................. EREAEI

37) 90 ot ) 2€00 foH)

&) uRo fopHt g) QoL foprt
periyar dam is in the district?

a) Thrissur b) Pathanamthitta
c) Idukki d) Alappuzha.
URIR eRUT BT fSieglTd 318 ?

37) foRR ) geAmAgT

&) ggah! <) 37T,

The main energy source for the environment is .......c........
a) Solar energy b) Chemical energy,
c) Bioelectric energy d) Electrical energy
TATEROTTT H2T BT ovvvvrrrrrneen 318

31) IR St §) IR Hoit

&) Stafagd il g) fagd Hati

ENT-51
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36. What does PNR stand for on a train ticket?

37.

38.

A) Passenger Name Record B) Public Navigation Route

C) Personal Notification Request D) Payment Notification Response

¥ fafdserar 3R B S ?

37) Y1 AraT Al §) Idsifae Af@er arf
&) dafthes AT fadt <) UHe =T ufcTe

What does "NC" on a train ticket indicate?

A) No Cancellation B) No Confirmation

C) No Choice D) Not Certified

e fafeberariel "NC" B gefad?

31) Ig BT TRaTfT ATl ) g8t o AP ATl
&) T ATEN HELIECEIS

What is the main purpose of the "Agent's Coupon” on a flight ticket?
a) It's for the airline's internal use.

b) It's for the passenger's records.

c) It's used by the travel agency for accounting purposes.

d) It allows the passenger to board the plane

faHT fafberaRlcl "Usic HU-" o1 43 3820 B 31e?

31) d T3RATSTAT 3P Td AR 38,

d) A yanerien TNl AT

%) A ¢Be UaTIgR fRAT STUIATS! AT 3iTel.

g) A ga1RITell fAHT1d Tevar Rarail &d.

10:15



39.

40.

41.
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What is located in Agra?

A) Kutubminar B) Tajmahal
C) Shiv Temple D) Havamahal
311 32 B acic 3.

A) PSR B) ATSTHETc

C) fa dfeR D) &aTHglel

What is the main purpose of a visa?

A) To allow a person to permanently settle in another country

B) To grant legal entry into a foreign country for a specific purpose and time
C) To act as a passport substitute

D) To provide health insurance abroad

fe T T 3821 B A8 ?

37) UETEl Ahict] GH-AT a2ITd HREIH 31 Fuarh warsi qul

9) fafre 382 310 ISHS! TRe2ATd BrIGefR Haer 3oy

&) URTUIC YT FEULH BTH U]

g) WRG2ATA 3RIY f3H1 YGr B0l

What does a "Schengen Visa" allow?

A) Travel only within France

B) Travel to any country in Asia

C) Travel within 27 European countries without internal borders
D) Immigration to Canada

A AT BRI RarPit &dl?

37) Bth WA JaTd &0

o) 3T PITATE Q2T YR BT

&) 3iePid HHT T Ao FRIYY GATHEY Y Bl

3) PASHEY AR B

11:15
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42. Which of the following is a UNESCO World Heritage Site located in

Maharashtra?
(A) Hampi (B) Ajanta Caves
(C) Sun Temple, Konark (D) Sanchi Stupa
HERTEId A Wicfiedh! BIUTd JARBIAT STPTfP TRAT I 3Te?
(37) gt (§) 31fsiaT @i
(o) T HfeR, oMb (3) Wit

43. Which city is known as the 'Wine Capital of India'?
(A) Pune (B) Solapur
(C) Nashik (D) Aurangabad
'YRAT GTe Hicel FUH PIvTd AR HBEA SiTd ?
(31) gor (&) AR
(P) A1fAB GELIICIH

44. What is the name of the luxury tourist train that operates in Rajasthan?
(A) Palace on Wheels
(B) Royal Rajputana
(C) Golden Chariot
(D) Deccan Odyssey
RTSRFHE STAUTRI ATSR] gNIE ¢-1d -T1d BT 38 ?
(37) Yot 3179 Bled
(&) I JTSTYCATT
() Mo Y
SEscEEIES]

12:15



45.

46.

47.

What does UNWTO stand for?

(A) United Nations World Tourism Office

(B) Universal Network for World Travel Organization
(C) United Nations World Trade Organization

(D) United Nations World Tourism Organization

UNWTO %UTsl 13 ?

(31) TGeh L SPTAD TR BRI

(§) TP YT HESHTS! Ad e Acadh

() TGth AT SAPIfch ATIR FEAl

(8) HYH 1L STPTfD e FHere

The river known as the 'Dakshina Ganga' (Ganga of the South) is:
(A) Krishna (B) Godavari

(C) Cauvery (D) Mahanadi
'SferoT 3T (GFEYOTR 3T TEUT 3Nt SATUTRY A 37T

(37) peom (&) Merad

() BT (3) et

The Himalayas are spread across how many countries?
(A) 3 (B) 4

(€5 (D) 6

fgHTeTa fasdl Qermed qaRele 3118 ?

(31) 3 (@)%

(@)Y (3) &

ENT-51

13:15



ENT-51

48. Which of the following rivers does not originate in the Himalayas?

49.

50.

(A) Ganga (B) Yamuna

(C) Krishna (D) Indus

HGefeTde! SIvTeT el 35T AT el ATél?

(37) 30T (&) I

() o (3) gL

The battle between Afzal Khan and Shivaji Maharaj took place at which fort?
(A) Rajgad Fort (B) Panhala Fort

(C) Pratapgad Fort (D) Sinhagad Fort

3STCRAT 0T AT HERTST ATl g PIVTT fbecarer Siiei?

(37) R151TS fepeet () T=aTesT fapeet

() TS et (3) (&S faseet

Which fort is located in Pune and is popular for its monsoon trekking route?
(A) Daulatabad Fort (B) Sinhagad Fort

(C) Vijaydurg Fort (D) Korigad Fort

qUATA PIUTAT faseetT 31Tg 37101 A T UIaaTas! SfesT APTRITST Ay 318 ?

(37) SreAdTaTG fobeatl () RigoTs fopeet

() farsTagyt fbee (E) PRPTE fbeett

*o0

14:15



ENT-51
-- ROUGH WORK --
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